"w"—ﬂ-"“—" i T . e e L]
-*» -R- -*. _x_ * * *l\*f\-x_I\*!\*l\*l\*r‘*c\*l‘*v\*'-*'-*

e Test Booklet Code

A g
1 [45
ok _ i o,
&Y ENGLISH | :
E 10,

Important Instructions:
1. The Answer Sheet is inside this Test Booklet. When

you are directed to open the Test Booklet, take out the & 11.

Answer Sheet and fill in the particulars on ORIGINAL :

Copy carefully with blue/black ball point pen only. : 12

The test is of 3 hours duration and the Test Booklet

R

with a single correct answer) from Physics, Chemistry :
and Biology (Botany and Zoology).

3. Wherever the symbols/constants are not mentioned, they :
are to be considered as per their standard meaning/ :

value.

4. Each question carries 4 m
response, the candidate will
- incorrect response, one mark will
total scores. The maximum marks are 720.
5. Use Blue/Black Ball Point Pen only for writing :
particulars on this page/marking responses on Answer }

Sheet.

Rough work is to be done in the space provid

purpose in the Test Booklet only.

7. On completion of the test, the candidate must hand :
over the Answer

Invigilator before leaving the Room/ :

Copy) to the
Hall. The candidates are allowed to take away this 3

Test Booklet with them. :
8. The CODE for this Booklet is “45”. Make sure to :

enter this code in the OMR answer sheet.

arks. For each correct

ed for this

ol

AT
2130..210.2.

: infigures .....ss

Name of the Candidate (in Capitals)

Roll Number

i WOPAS sossssssessrernennesnnnnnansses

on (in Capitals) cresecerggesnesnrnereserenesss

Centre of Examinati
Candidate's Signature © e

Facsimile gignature
1

45 _En glish |

- ——— e,

Do not open this Test Booklet until y

This Booklet contains 32 pages,

contains 180 multiple-choice questions (four options : y3

get' 4 marks. For each : 14.
be deducted from the : 15,

i 16.

Sheet (ORIGINAL and OFFICE : 17.

i 18.
* question in the OMR Sheet, it will be treated as

sEssssssREEEEaERARRRRRRRRE

Invigilator’s Signature : }J\'\\;\/ .....

gtamp of Centre Superintendent s coessensensepessesess

A

ou are asked 10 do so-
including Rough Page.

The candidates should ensure that t
not folded. Do not ma
Answer Sheet. Do not write
else except in the speci
Answer Sheet.

Use of white fluid for correction is
on the Answer Sheet.

Each candidate must show on-d
Admit Card to the Invigilator.

No candidate, without special permission of the centre
Superintendent or Invigilator, would leave his/her seat.
The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign (with time) the Attendance
Sheet twice. Cases, where 2 candidate has not signed
the Attendance Sheet second time, will be deemed
not to have handed over the Answer Sheet and dealt
with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the examination with regard to their
conduct in the Examination Room/Hall. All cases of
unfair means will be dealt with as-per the Rules and
Regulations of this examination along with Public

NOT permissible

emand his/her

- Examinations (Prevention of unfair means act 2024).

No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances.

The candidates will write the Correct Test Booklet Code
as given in the Test Booklet/Answer Sheet in the -

Attendance Sheet.
If a candidate marks more than one answers for a

incorrect and negative marking will be applicable

.................................
Tnas
LT

......

......

Tramng
R L T T P
g

@k P
Centre Superintendent !
centre No. 2302105

PM Shi G.S.S.S. Sec-417 Gurygram

Contq

i

y



1 Consider a water tarikshown in the figure. | An electron (mass 9x1073! kg and

It has one wall at x‘-};L and can be taken charge 1.6x1071°C),moving with speed ¢/100
to be very wide :s}:D thé & diveetine. (c = speed of light)ééinjected into a magnetic
§ o = B
When filled with a lliq’;‘_li;d of surface tension S field B of magnitufie: 9x10~4 T perpendicular
and density p, the llq?ﬁg}%ﬂl surface makes angle to its direction of rrl"qtlon We wish to apply an
8 ™ .
0,(0, <<1) with the x-dxis at x = L. If y(x) is ' uniform electric field E together with the
] é“i i magnetic field so that the electron does not
the height of the surface then the equation for deflect from its path. Then (speed of light
() s | c=3x108 ms!)
: - -
3 (1) E is perpendicular to B and
e} its magnitude L.°|>T_27><104 V m!
y ? L3 - %Lg -
st / (2) E is perpendicular to B and
K0 _ its magnitude is'27x10% V m"!
=2y

-, g
(3) E is parallel to! B and

its magnitude :E%EZTXIOZ Vm!

- et
E is parallel to; B and

—P X 4) 4
x=L its magnitude is 27x104V m™!
i?; There are two inclined surfaces of equal length
Rad

(ke B(xh i Bt 2B A 5 B (L) and same angle;of inclination 45° with the

() =sin8x) _%n o= o g:1x the horizontal. One of them is rough and the other
accelerati ). is perfectly smooth.:Azgiven body takes 2 times
o0 dueto g%glty) as much time to slide down on rough surface

) 9 than on the smoothgurface. The coefficient of
4)) P ) i%:f__ y kinetic friction (p;a; between the object and
¥ dx S o
s the rough surface 1§w§lose to
2 ' 1) 025 w2 0.
a2 s @ =B 3) 05 4) 0.75
Wy'de \ §
)
A microseq ‘ﬁ / 5  The kinetic energies;of two similar cars A and
iy Pe has an objective of focal B are 100J and 225 J respectively. On
e " ) Yepicee of fog_jai'-e length 4 al length .. applying breaks, car A stops after 1000 m and
i ength of 4 em. iffhe diste tm and the car B stops after 1500'm. If F,and Fyare the
vision of eye is 25 o i, 58 ¢ Of distinet forces applied by the-breaks on cars A and B,
microscope is w3 Nagnification i e respectively, then th@atio F/F, is
(1) u (¥4
(31 ]1;? v W 3 ) 2
. (4) 250 2 ‘i 3
45 _English | @ L |
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The current passing through the battery in the
given circuit, is: -

(1) 2.04
(3) 254

string of length /. The

5.5Q

) 054
@) 15 A

A bob of heavy mass m is gﬁgpcndcd by a light

bob is given a horizontal

velocity v, as shown in figure. If the string gets

slack at some point P

making an angle ¢ from

the horizontal, the ratio of the speed v of the

bob at point P to its initial speed v

(1) (sin0)/

1 VA
@ 2+3sin 0)

cos 8 \%%

®) (2-}-3 sing )

1
@ sin © \A
2+3sin0)

45_English |

o is:

/ The output (Y) of ithe given logic

implementation is similar to the output of

an/a gate.

A o®)_

B o— i y—o
A o——->0_|7

(1) AND (2)7NAND
(3) OR

(4) .NOR

The electric field in

a plane electromagnetic
wave is given by "

E. =60cos (5x+1.5x10°)V / m.

Then expression for the corresponding

magnetic field is (here :subscripts denote the
direction of the field) : 7%,

(1) By, =2x10"7 cos (5x+1.5x10°n7T

@ B, =2x10"7 cos (5341 5 x10%1)T

®) B, =60c0s (5x+155x10%)7

@) B, =60sin (5x+ L5x10° T

£
Wr t

]
whd

19" A ball of mass 0.5 kg is dfopped from g height
of 40 m. The ball hits ‘i

(1) 21 NS (2) 7NS

3) 0 (4) 84Ns

[ Contd...



s a part of an clécu ical circuit (see figure).

ABi
» at the

The potential dtﬂ'crence “Vy—¥ps
2 A and is increasing

instant when currcnt i=

at a rate of 1 amp ;’ scconci is:

(1) 5volt ‘
)
(2) 6volt (3}
114
(3) 9 volt it

(4) 10 volt R

e, .
f A 2 amp current is flowing through two

different small circular copper coils having
radii ratio 1:2. The ratio of their respective
magnetic momeng-:will be

)
4 41

e
E =t
o
A

(]) 1:4 1.2

(3) 241

5

;,,i

™

3 Ina ]
certain ]
camerfa, a combination of four

similar thin
convex lenses are arranged axially

in contact, The
en
1hc power of the combination

a

Jens will be, rt,spegtwcl
W

(1) 4pand 4y

'

(2) pf and 4m

(3) 4pand m?

(4) p* and n

45 Voglish |
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F

. t=x2+x. The acceleration O

An oxygen cylinder of volume 30 litre has

18.20 moles of exygen. After some oxygen is
withdrawn from the cylinder, its gauge
pressure drops t6711 atmospheric pressure at
temperature 27° i, The mass of the oxygen

withdrawn f'rom »‘the cylinder is nearly equal

to : -
|
J mol\K-!, and

molecular mass of 0,= 32,
= l 01 % 105 N/m]

[Given, R = 1@‘

| atm pressure =

3]

(1) 0125kg @ @ 0.144 kg
3) 0.116 kg S @) 0156 ke
o
o
L4

time (9 and position
article is given by
f the particle is

In someé appropnafe units,
(x) relation of 4 moving p

2
-2 @) T )y
M. (x+2)H (2x+1)
£9
et
2 ™ 2
P i na——
@ " (xe+1)CH #) 7 x4+l
L4
5

supply of 220 V at 50 Hz, 2

resistor of 2092, 2 capacitor of reactance 2

} of reactance 45Q ar¢
s. The corresponding current
hase angle petween

S, respectively -

To an ac power

and an mducto

connected in ser;g
in the circuit and:the p
current and the yoltage i

J
(1) 7.8 A and 3{30
(2) 7.8 A and 4"5?
(3) -
(4) 15.6 A and 45°

15.6 A and 30°
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The Sun rotates around its centre once in
27 days. What will be the period of revolution A
if the Sun were to expand to twice its present
radius without any extcrnal influence? Assume
the Sun to be a sphere of uniform density.

(1) 100 days
(3)

'“fz) 105 days

£

¢(4) 108 days

{"'a

115 days

A model for quantxzed motion of an electron
in a uniform magnetic field B states that the
flux passing through the orbit of the electron
is n(h/e) where n is an integer, % is Planck’s

constant and e is thé ?nagmtude of electron’s
charge. According tp fhe model, the magnetic
moment of an elect_x;gn in its lowest energy
state will be (m is tﬁlé#mass of the electron)

{.\, h
W) —

) 211:m

fv-'e

¥d
C))

he

mm

)

et

wm

heB
2wm

€)

Three identical héat conducting rods are
connected in series a.ff shown in the figure. The
rods on the sides have. ;hermal conductivity 2K
while that in the\!mlddle has thermal
conductivity K. clhe left end of the
combination is maintained at temperature 37

- and the right end at 7 The rods are thermally

insulated from outside. In steady state,
temperature at the left junction is 7, and that
at the right junction is T,. The ratio 7}/, is

¥y
K
':.;;Tz
N
l"""—j
w2)
i
@

3T 2K 2K r

ANRANNNNY
ANAANANAN

T,

(M

N w
W

| wn
alw

3)

(¥ ]

£

The plates of a parallel plate capacitor are
separated by d. Two slabs of different dielectric

d
constant K, and K, with thickness —d and =

respectively are ms__e_rted in the capaCItor..Due
to this, the capacitance becomes two times
larger than when there is nothing between the
plates. N

If K| = 1.25 K, theivalue of K| is :

(1) 2.66 O 233

(3) 1.60 =@ 133

Two cities X and Y are connected by a regular
bus service with'a bus leavmg in either
direction every T mlh A glrl is driving scooty
with a speed of 60km/h in the direction X to
Y notices that a“bus goes past her every
30 minutes in the dll’ectlon of her motion, and
every 10 mmutes m the opposite direction.

Choose the correct’ optlon for the period T of

the bus service and the speed (assumed
constant) of the buses.

(1) 9 min, 40 km/h
(2) 25 min, 100 ky/h
(3) 10 min, 90 kﬁ?@
@) 15 min, 120 Kivh

A uniform rod of mass 20 kg and length 5 m
leans against a smooth vertical wall making an
angle of 60° with it. The other end rests on a
rough horizontal floor. The friction force that
the floor exerts on the rod is

(take g = 10 m/s2)¢

(1) 100N

L
i

~
L |

1003 N |
5.,.‘!1

@)
(3) 200N

(4) _200J3N v
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In an oscillating spring mass system, a spring
is connected to a box filled with sand. As the
box oscillates, sand leaks slowly out of the box

vertically so%hat the average frequency m(t]

and average amphtude A(r) of the system
change with t:me . Which one of the following
options schematlcally depicts these changes
correctly?

i5d

& -
Ky

0 /_—
; !
1
0 Al B
& ‘(E\.
o) 15
_lrf —>-
5 N \ |

2 A balloon is made of a material of surface
/ tension S and its inflation outlet (from where
gas is filled;in it) has small area A. It is filled
with a gasof density P and takes a spherical
shape of radius R. When the gas is allowed to
flow freelyout of it, its radius » changes from
R to 0 (zero) in time 7. If the speed v(r) of gas
coming out of the balloon depends on r as 14

and T oc 3‘35}#3 pY R® then

3 3
a==,a _—_ ,Bp=-1, F1,8=
(1) 2 Y= 3

a=-—

Q
Il
|

|

=]
I
|

-
Il
|

|

o
I

N |w

1
(2) 5 >
o
a=~~

1 1 7
a=——, :—l’ 3—‘,6=—
3) ) B . Y=5,0=2

1

:B':__&Y:

I
2 2

N~

(4)

2
T
W=
l

hJIrd
ml-—

Consider ;th_c diameter of a spherical object

being measured with the help of a Vernier

callipers. Suppose its 10 Vernier Scale

Divisions (V.S.D.) are equal to its 9 Main Scale
Divisions (M.S.D.). The least division in the
M.S. is 0.1 cm and the zero of V.S. is at
x=0.1 cm'when the jaws of Vernier callipers
are closed.”!

If the mam 'scale reading for the diameter is
M =5 cm%and the number of coinciding
vernier division is 8, the measured diameter
after zerofetror correction, is

(1) 5.18%m (2) 5.08 cm
(3) 4.98 cm (4) 5.00 cm

(3]

6 A Parallel plate capacitor made of circular

c}!::lt: Se 13 being charged such that the surface
ccmsgfam@nslty on its plates is increasing at 3
arising ¢ l:zl:[-e with time. The magnetlc field
& dueto displacement current is :

(1) zero asczall places

2
) gonstant between the plates and zer0
3) UtSlde the plates

nc'"-ze
lxlloa C¥erywhere with maximum &
Connectip Sihary cylindrical surfact
18 peripheries of the plates

(4) q...,\_'l
€en the plates and non-zer®

Zerg |
Clwe
OutSIde
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/ An unpolarized light beam travelling in air is

incident on a medium of refractive index 1.73
at Brewster’s ang]e Then-

(1) reflected llght is completely polarized and

the angle ofireflection is close to 60°

(2) reflected hght is partially polarized and

the angle of 1*eﬂect|on is close to 30°

(3) both reflected and transmitted light
are perfecl!y jpolarized with angles of
reflection and refraction close to 60° and

300, respectively.

4)

transmitted light is completely polarized
with angle ﬁTefractlon close to 30°

'\...crr‘

&

Two identical charged conducting spheres
A and B have théir centres separated by a
certain distance ;éharge on each sphere is q
and the force of l'epulsmn between them is F.
A third identical incharged conductmg sphere
is brought in contact with sphere A first and
then with B and finally removed from both.
New force of repulsion between spheres A and
B (Radii of A and B are negligible compared
to the distance'of separation so that for
calculating forceretwecn them they can be
considered as poin{ charges) is best given as :

28

{“v 2F

W= W
O

F % i BB

(3) > v @) 3

A container has_two chambers of volumes
vy = 2 litres and Vg = 3 litres separated by a
partition made f'a thermal insulator. The
chambers contains, n, =5 and n, = 4 moles of
ideal gas at p{(.qsurcs py = 1 atm and
Py =2 atm, respccuvely When the partition is
removed, the mlxturc attains an equilibrium

pressurc of : E"‘
(1) 1.3 atm v-*'! (2) 1.6 atm
(3) 1.4 atm (4) 1.8 atm

45_English |

A particle of mass m is moving around the
origin with a constant force F pulling it
towards the origin. If Bohr model is used to
describe its motion, the radius 7 of the #™ orbit

and the partic_l__g-';s speed v in the orbit depend
on n as 363

/

J

1) rocn”3 ;vocrz”3

(2)

o nl/:g_;é e Al

rocn2/3s5 voc /3

jE)
Q)

rocn3; vocp1/3

The radius of g}y{artian orbit around the Sun is
about 4 times: the radius of the orbit of

Mercury. The®Martian year is 687 Earth days.
Then which ofithe following is the length of
1 year on Me:cg,lry £

(1) 88 earth g(fgys

(2) 225 eartlﬁays

(3) 172 earth days
(4) 124 earth days

i

A body welgﬂi3 48 N on the surface of the
earth. The gra%tatlonal force experienced by
the body due tU the earth at a height equal to
" one-third the 3 Eadlus of the earth from its

4

surface is : §
(1) 16N {5 (2) 27N
(3) 32N+ (4 36N

g

e

A wire of resistance R is cut into 8 equal
pieces. From these pieces two equivalent
resistances are;made by adding four of these
together in parallel. Then these two sets are

added in senesf'gfhe net effective resistance of
the combmathg} 18

™

i R L | R
(1) == N Q) =
64 v 32

R v R

@) -1-6_ w1 ) 8

‘ [ Contd...



De-Broglie wavelength of an electron orbiting
in the # = 2 state of p_gdrogen atom is close to
(Given Bohr radius ?0052 nnn)

(1) 0.067nm [ (2) 0.67 nm

(3) 1.67nm (4) 2.67nm

5 An electric dipoléswith dipole moment
5 x 10-6 Cm is alignéd with the direction of a
uniform electricr~field of magnitude
4 x 105 N/C. The dipole is then rotated through
an angle of 60° with respect to the electric
field. The change in the potential energy of the

dipole is :

(1) 087 () 1.0
@ 121 L(#) 157

3¢ A constant voltage of 50 V is maintained
between the points' A and B of the circuit
shown in the figure. The current through the
branch CD of the ci:fr_"_c_:"'uit isi:

C
—— AMN—
20
B
i
&
il
| [ &
|!
S0V,
(M 154 - -
i 2 2.04:
(3) 254

(4)3.04
i M,
photon and ap electron (mass m) have

the same energy E. The rati
gy E. atio

',(_gof their de Broglie
s;‘.;_f\e speed of light)

m & (?_)l .
2m g '
(3) c‘/:_;_— @) %%

45_Engligh |

(APhOfOH / ;‘electron )
wavelengths is: (c i

»}/ Which of the following options represent the

variation of photoelectric current with property
of light shown on the x-axis? '

2
E
g5 0
& £
~ " *
0 —> .
Intensity of light
AN
2 he
E
% E L |
g5
B. g°
= \E
Intensity of light
N
2
h A
.u—.:j E i"-‘ég
g5 &
c 2° O
"o =
Frequency of light {%
(o
N 5
=
2 -
25
i
g5
D. 8° ff
=
0 _} }i__.‘.i
Frequency of light 1
(1) Aonly
¢E
£ Fdegnd I |
- 130
(3) AandD ?
4) Band D L e
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3 A sphere of radius R i§'ut from a larger solid

sphere of radius 2R as §hbwn in the figure. The ||

ratio of the moment of‘m:.rlm of the smaller
sphere to that of the reft part of the sphere

about the Y-a
Xis is : N

0
A4 i

N H
™

—=N

i N

= ‘\L Ny
\:
=~

M

oo |

7 7
R 1 e
) 53 ® &

4
L

natt
/ A full wave rectifier cirguit with diodes (D)
and (D,) is shown in the, figure. If input supply

voltage V;, = 220sin¢100 7t #) volt, then at

1= 15 msec
% R,
o
(1) D, is forward Bidsed, D, is reverse
biased 1

o _
(2) D, isreverse biased, D, is forward biased
(3) D, and D, both are forward biased
(4) Dy and Dy both are reverse biased

45_Engllsh |

AN

Two gases A and B .lrr.. filled at the same

pressure in separate aylmdcrs w:lh movable

)
. |
pistons of radius 7y ¢and rp, resp
™
On supplying an equal finount of heat to both
v

cctively.

the systems reversibly pqdcr constant prcqauu.,
the pistons of gas 4 and B are displaced by

16 cm and 9 cm, respectively. If the change in

e a

" . ;
their internal energy isithe same, then the ratio

0
VAN . = \/\
A} is equal to o
o
Lo
v
@

2%
S

W
Blw

()

[ o]

y =y

s
mla

A physical quantitf?;" is related to four
o

observations a, b, ¢ and d as follows:

P=a3%2/¢Jd M
)
\0
The percentage errors 6f measurement in a, b
O =
c and d are 1%, 3%, 2%, and 4% respectively

e A
I'he percentage error in !lhc quantity P is
T F

)
(N 10% (2) 2%
3 1% 4 15%

b \)s i W
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The intensity NS
polaroid sheet, placed,
polaroids at 22.5° from the polarization axis
of one of the is the intensity of

polaroid;;;-is (o
polarised light a through the first

fier passing
&

| i.‘ B

polaroid):
fg % 10
Iy . Iy
©) 8 i(4? 16
i

ended

int masses P and Q, susp
% §
pring

Two identical po

e )

two separate massless springs of
E S )

from
constants &, and kzé\gféspectively, oscillate

vertically. If their m?éi
Q/zip) of the amplitude 4o
f mass P is:

mum speeds are the

same, the ratio (4
Q0 to the amplitude Ap 0

of mass
5 @ %,
i
£
kz i § k‘l
3 K &4}) ky

A pipe opeh at both ends has a fundamental

frequency f in air. The pipe is now dipped
P
vertically in a water CEL;L}m fo half of its length.

The fundamental frequency of the air column
3

e

is now equal to o4
o % @ f
| &
3
A @ 2f

(3) 5

45_English |

of transmitted light when a /46/

between two crossedU

10

of the wavelengths of the light

The ratio .
absorbed DY a Hy_flrogen atom when it
undergoes 1= —n =3 andn=4 —> n=6
transitionss respectn}fe_ﬁ_ly, is
M 36 .t 16

| + T
@5 o R

t has a ve

/ Which of the following statements are true?
ry high melting

A. Unlike Ga tha
point, Cs has a.yery low melting point.

B. On Pauling sc;jal}:, the electronegativity
values of N an:CI are not the same.
Ar. K+, CI, Ca3, and S77are all
isoelectronic species.
D. The correct order of t
enthalpies of Na; Mg,
Si is Si > Al >'Mg > Na.
E. The atomic raliiis of Cs is greater than

that of Li and Rb.
the correct answer from the 0

e

he first ionization
Al, and

Choose ptions
given below :
(1) A, B,andE only
«(2) CandE only by
(3) Cand D only :;g
4) A, C,and E only

B
|

. i sr_:’.—.
Match List T with List IT

List I i ListqI
(Ton) (Group Number
~_in Cation Analysis)
A Co** 1. Group-l
B. Mg* *ﬁl Group-111
C. - Pb** g‘%ﬂ. Group-1V
L
D. AP V. Group VI
Choose the correct answer from the OP“"“S
given below : -
(1) A-IIL B-1V, CAff; D-I
@) Al B-IV, CLD-II
(3) A-III, B-IIL, C-IV, D-1
o (4) A-IIL B-II, C-1, DIV
| Icoﬂ&"

-



5/ Energy and radius of ?fst Bohr orblt of
A

Predict the major product ‘P’ in the following

sequence of reactions - .,
&
o
- (i) Na (Hg)fcggiSOH
{4
L0
) v (2). %HZNH2

CH,NH,

(i) HBr, benzoy] peroxide
(ii) KCN ) >
(Major)

CH, G C
(3) (4 CHy
C €5
Qﬂ
o

Het and Li2* are ot
[Given Ry; =2.18 x IO—IS‘ST.T:%aO =52.9 pm]
(1) E@Li*)= ~19.62x107187J;

T (L12+) 17.6 pm i

E (He") = -8. 72><10§3 J;

r (He*)=26.4 pm i”

E,(Li2) = -8.72x1Q%* J;

¢ [ILi%)= 26 4 pm ;;
E,(He™) = -19. 62><10~181

2

r (He*)=17.6 pm

£ = -16 -
s &) E, (Li2*) = -19.62%10 J;
r,(LiZ*)=17.6 pm (¥}
E,(He*) = -8.72x1 0;}:?1
e-‘&l

r (Hc*} 26.4 pm ¢

E,(Li2") = -8. 72><10~16J _

. o
r,(Li?") =17.6 pm '

E,(He") = ~19.62%x10%16 J;
r (He*) = 17.6 pm

“) .
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.

/ Which of the following are paramagnetic?
L

A. [NiCly]* B, 'Ni(CO),
C. [NI(CN)“J D.;[NI(HZO)G]
E. Ni(PPh3), *

Choose the correct ansv{_(elj' from the options
given below::

(1) AandConly s s (2) B and E only

(3) AandDonly (4 EA D and E only

'* = |

Given below are two state'ments

'''''

Statement I : Like mtro%en that can form
ammonia, arsenic can formy arsine. '
Statement IT : Antimdny cannot form
antimony pentoxide.

In the light of the above statéments choose the
most appropriate answer from the options
- given below :

¢ (1) Both Statcment.l angﬂ?tatement 11

are correct P53

Both Statement I and:Statement II

it
=

<

)
are incorrect

£ 3 R
Statement I is correct, I‘_gaut Statement 11

g

(3)
is incorrect i3
Statement I is incorrect but Statement II

7=

“4)

is correct

Which among the following electronic
configurations belong to n;aa}n group elements?

oo

A. [Nep3s' B, [Ar]3d’4s”

; =

C. [Krj4d'%5s%5p° Dy [Ar]3d'%4s!
0

E. [Rn]5f%6d%7s®> i)

Choose the correct answer from the optlon
given below : e

(1) Band E onl)( (2) AandC only
(3) Dand Eonly #t4) A, Cand D only

11
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Dalton’s Atomic theory could not cxplam@

which of the followmg"
(1) Law of conservation of mass
(2) Law of constant ‘propm tion
» (3) Law of muluplc pr0port10n
' (4) Law of gaseous. qulume

wa |
LI

ok |
Consider the followi’n%‘compounds :

KO, H,0, and HS0,™) &

The oxidation states of the underlined elements
in them are, respectig'ely, ;
(1) +1. -1, and +69g’%
) +2—% and +6%
(3) +1,—-2,and +4% 4
« @ +4, —4, and +6; %éf;
4
If the half-life (t; fz)ffer a first order reaction
is 1 minute, then the time required for 99. 9%
completion of the reaction is closest to :

(1) 2 minutes
(3) 5 minutes

2) 4 minutes
'{«(34) 10 minutes
10

The correct order of*«t‘he wavelength of light
absorbed by the folanmg complexes i,

A. [CO(NH3)6:\ [CO (CN)(S]

w'g 3+
c. [cu(H20), ] D. [Ti(Hzo) ]

Choose the correct answer from the options
given below: u%

m B<D<A<C~” (2) B<A<D<c
s (3) c<D<A<Bgy 4) C<A<D<B

3+ g\w

T

Which one of the f6llowing compounds can
exist as cis-trans isomers?

(1) Pent-1-ene %}
9 (2) 2-Methylhex-2-enc
(3) 1,1-Dimethylcyclopropane

/A

Ly \/
6
o :

(4) 1.2-Dimethylcyclohexane

Phosphoric acid ionizes in three steps with
their ionization constant values

l(al K,. and K , respectively,

2
while K is the overall ionization constant.

Which of the follomng statements are true?
log K = log Ks‘f—i- log K, + log K

e

B. H3PO4 is a stronger acid than I—[2P04

2_
and HPO4 .
>
¢ KEI1>Kf‘2 §%3
K, ¥K
D. K, = 3 fit% 2
1 2%

Choose the correétianswer from the options
given below: &
(N A and B only™ 4
2) AandC onlf:
3) B, C and D only
4) A.B and C only

\b/ Which one of thqsf;ollowing reactions does

NOT give bemenems the product ?

o) QC—ON@_@Q@.‘_’I‘_&—»

) g"‘w Mo,04
n-hexane — 773K, 10 - 20 atm.

Er{’j hot Iron Tube
H-C=C- =2
(3) k at873 K

| 4) Q -Ne i

é?
If the molar cbﬁductlwty (Am) of 2

0.050 mol L solutlgon of a monobasic weak
acid is 90 S cm? n’{a"l" its extent (degfec)
dissociation will b‘:e "

[Assume A+ =349, 6§S c:m2 mol~! and

AZ =50.4Scm? mbl+! J

(1) 0.115 » (2) 0.125
(3) 0.225 @) 0215

[ Contd~
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e (1) A-ll, B-I, C-I¥ D-11I

’

Given below are two statements :
Statement I : A hypothetical diatomic
molecule with bo?_diorder zero is quite stable.

Statement IT : A§}~.pond order increases, the
bond length increases.

In the light of the above statements, choose the
most appropriatéanswer from the options
given below : {3

(1) Both Stateméht I and Statement IT

are true i
. i 5
(2) Both Statemént I and Statement I
are false

(3) Statement I is true but Statement II
is false ™

(4) Statement I isifalse but Statement II

is true Wi
Out of the folloézf%g complex compounds,
which of the corgx_‘und will be having the
minimum conducltigitglce in solution?
(1) [Co(NHy), €1 ]

@ [Co(NH;),c1,]
3) [Co(NH;)g]c1s
@) :Co(NH3)s§C‘

N
Match List - T with:List - II

List-I v List-II
A. XeO, v sp3d; linear
B. XeF, 1. sp3; pyramidal
C. XeOF, 1. sp3d3; distorted

M octahedral
O y,
0 :
oyt pyramidal

Choose the correctj answer from the options
given below : ¢

D. XeFg sp>d?; square

() A-ll, B-1, C-ITf, D-1v
(3) A-IV, B-11, C-111, D-I
@) A-IV, B-II, C-1, D-11I

45_English ] 13
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4

C(s) +2H,(g) — CH,(g); AH=-74.8 kJ mol™!
Which of the following diagrams gives an
accurate representation of the above reaction?
[R — reactants; P — products]
o
Energy |
(kJ mol™ 1) J

(M T

—> Reaction progress

I P
R 74.8

—> Reaction progress

5

i .

4

Energy
(kJ mol™1)

) T ¥

)
=
e

5

Energy |.:
(kJ mol 1) |,

— s Reaction progress

Energy P
(kJ mol )|
)
@ T 4R 74.8
s
—3$Reaction progress
" £
e .
Match List - I with List - II
List-I :;i List-IT
(Example) (Type of Solution)
A. Humidity I.  Solid in solid
B. -Alloys 1. Liquid in gas
C. Amalgamsc_ﬁ III. Solid in gas
D. Smoke g IV. Liquid in solid

Choose the corréct answer from the options
given below : £
(1) A-lI, B-lv.f‘c%‘-l, D-111

o (2) A-IL B-I, C-1V, D-lII

(3) A-IlIL, B-I, Cs1V, D-I1
(4) A-ll, B-II, C-I, D-IV

[ Contd...



The correct order of decreasing basic strength

of the given amines is :

» N-t11ctj1yla:1ili11e > benzenamine >
ethanamine > N-ethylethanamine
N-ethyléthanamine > ethanamine >
benzenamine > N-methylaniline
N-ethgzléthanamine > ethanamine >
N-me{h;laniline > benzenamine
benzenamine > ethanamine >
N-methylaniline > N-ethylethanamine

v

(2)
v 3

(C))

6 Aiﬁong the following, choose the ones with
equal number of atoms.
A. 212 g of Na,CO;3 (s) [molar mass
B. 248 g QRNE‘ZO (s) [molar mass = 62 gl
C. 240¢ of--\‘l\laOH (s) [molar mass = 40 g]
D. 12 g oﬁFfz (g) [molar mass = 2 g]
E. 220 g éi’éﬁloz(g) [molar mass = 44 g)
Choose th%;;_;_-orrect answer from the -optibns
given below :
1) A, B, and C only
(2) A,B,and D only
«3 B, C,{argd D only
(4) B, D,and E only

J Match Lisiﬁif-‘ with List IL
o " List IT

List I,

=106 g}

N

{Nam?,gf (Deficiency

Vitamin) disease)
A. Vitamin B, L Cheilosis
B. Vitamin D 11. Convulsions
C. VitaminiB, 111. Rickets

D. Vitamin'Bg

given bclo;f\-" B
(1) AL, Beljl, C-1, D-IV
() A-V,'BL1, €A1, DA
v 3) A, B, €, PAIY
- ,.M) A1V, B-111, C-11, D-1
=MD |

= Ui 1V. Pernicious anaemia
L 2
oose the correct answer from the options

14

e 3)

The correct order of decreasing acidity of the

. b3 ; vigic 8
following aliphatic acids is :

(CHy);CCOOH > (CH3),CHCOOH >

CH,COOH > HCOOH

M

CH,CBOH > (CHy);CHCOOH >
(CH;);€COOH > HCOOH

(2)

HCOOH > CH;COOH >
(CH,),CHCOOH > (CH,);CCOOH

HCOQH > (CH,);CCOOH >
(CH3);CHCOOH > CH,COOH
E

)

LY |

o
£

Given bel(‘Jw{ are two statements :

Statement' I : Ferromagnetism is considered

as an extreme form of paramagnetism.

8]

Statementiill paired

: The number of un

electrons 1111“23 cr2* ion (Z=24) is the sameé
4Nd3* fon (Z=60):
e

ght.6f the above statemen

as that of
In the li ts, choose the

t an‘g{\%cr from the options given below :
e |

correc

e (1) Both Statement [ and Statement 11
are true
(<@

t 11

Both Statement [ and Statemen
€ %

LR
are fal§§

(€))

Statement Il

oL
(3) Statement 1 is true but

is false”,
™
nt 11

[ is false but Stateme

@ Staterfient

is true
I contd”
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\’3/ Match List I with List I1

List I oA List 11 @ How many products (including stereoisomers)
(Mixture) %f (Method of are expected from monochlorination of the
Ly “Separation) following compound?
A. CHCL+ INA )1 Distillation A
C6}{5}\”‘12 R under reduced b ‘ﬁ‘
e\’ pressure Hal
B. Crude oil i, II.  Steam CH‘jCﬂg —CH3
petroleum by distillation O H C/ ! ;
industry " y : 3 L
C. Glycerol from III.  Fractional i :f
spent-lye distillation 1) 2 i
D. Aniline - water@-v. Simple . - W3
o distillation 3) 5 @) 6
Choose the correct answer from the options :
given below : Egj #94
(1) A-1V, B-IIL'C-1, D-II J( .
(2) A-IV, B-IILC-I1, D-I Among the givén compounds 1111, e correct
* (3) A-IIL, B-IV; €-1, D-11 ) order of bond digsociation energy of o
(4) AL, B—IV%"‘%-II, D-I marked with "¢ - —H bond
S83 LT s
o™
For the r,ea_cf_f_i;on A(g)=12B(g), the iy
backward reaction rate constant is higher than ik

Fri
; H
the forward reaction rate constant by a factor

H * i | ' .
i e

* ¥q C*
of 2500, at 1000 K. 1 er
[Given : R = 0.0831 L atm mol™! K] i b
K, for the reaction at 1000 K is : . _ ‘ >.<
(1) 83.1 () 2.077x10° I 0 s
(3) 0.033 & (4 0.021

h
Q':jgi . : ?
\% Given below are two stateg'lents 3 o (1) nN>1> Iiﬁ, ‘@ 1sqs .
ent I :;/Benzenediazonium sa .
Slt-: t:r?d by the reaction of aniline with nitrous 3) H>1 >§l:§, @ st [
i:::cis at 273 - 278 K. It decomposes easily in o
state. o
gt‘:ti:?:lent 11 :‘Insertion of iodine into the }é il
benzene ring is difficult and hencexl

Which one ci;_tf\%the followin

H . g Com ;
iodobenzene is prepared through the reaction does not decolourize bromine Poung
iodo :

of benzenediazonium salt with KI.

T hove ts, choose the
H he above statements, 4 1 O |
ln;l;f :ﬁgtrz;triéfé answer from the options M |
p . W - (83
givenbelow: g . d Statement 11 '
ment 1 an 2 :
2) igolh Gtatement | and Statement 1 . &
( are incorre¢t.’ i 1] (3) CH#CH,
3) Statement | is correct but Statem W
( is incorrects| satement 11 4 Ni' l1
(4) Statement [ is incorrect but Stat€ Hy
is correct

45_Englisll | [ Cnnm_“
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/{ The major product of the following reaction /{ * 5 moles of liquid X and 10 moles of liquid 'Y
— ' / make a solution having a vapour pressure of

70 torr. The vapour pressures of pure X and Y

O
i (i) CH;MgBr
CN (excess) are 63 torr and 78 torr respectively. Which of
P —
(i) H,0" . % the followmgé‘ls true regarding the described

solution? 4
(1) The soluhon shows positive deviation.

(2) The soluhon shows negative deviation.

(3) The soluttqn is ideal.

(4) The solution has volume greater than the

sum of individual volumes.
{}

&Y
W
Sugar ‘X’ e

: (N
A. is found inhoney.

LY

@) B. is a keto stgar.
C. exists in @land p - anomeric forms.
Which of the following aqueous solution W|Il ) )
exhibit highest boiling point? D. is laevorotatory.
o (1) 0.0IM Urea ‘Xis: &y
(2) 0.01M 1&503 _ &5
(3) 0.01M Na2804 (€)) D-Glucos& ¢ (2) D-Fructose
@) 0.015M €gH;,04 (3) Maltose " (4) Sucrose
’5‘—:1 oy
ﬁ Match List - I'wlth List - II :ii
¥4 g
List-I . , List-1I W /é Identify the suitable reagent for the following
A. Haber process I. Fe catalyst conversion. ¢
B. Wacker oxidation II. PdCl, '
C. Wilkinsopcatalyst Il [(PPh,);RhCI] 0
D. Ziegler catalyst IV. TiCl, with @’)L ()CHr @ CHY)
W Al(CH;),
o) i
C'hoose the c%r:rect answer from the options a @ LiAlHa; (if) HY/H,0
given below ? H e 2
(1) A-I, B-II; -1V, D-III ; (2) (i) AlH(iBu), (i) H,0
X A n +C- i V [ ‘h.
2 A-ILB I",:C I, D-I 3) @) NaBH4,s(Il) H*/H,0
s 3) A-l, B-IIyC-11, D-IV

(4) A-l, B-1v, C-11I, D-ll
45_English | 16 [ Contd~ [
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o (1)

Given below are two statements : one is
labelled as Assertion (A) and the other is )
labelled as Reason (R).

Assertion (A) : _~_"x1 undergoes Sy;2
reaction faster than /\/\Cl ,
Reason (R) : Iodine is a bé‘gter leaving group
because of its large size. w,

In the light of the above stgfgments, choose the
correct answer from the options given below :
Both A and R are true and R is the correct
explanation of A 4

Both A and R are truel but R is not the
correct explanation of A

(3) A istrue but R is false

(4) A is false but R is true;

@)

D
The standard heat of formdtion, in
kcal/mol of Ba2* is : =

o
[Given : standard heat oftformation of 03~

ion (aq) = —216 kcal/mc;'li_fstandard heat of
crystallisation of S

BaSO,(s) = —4.5 kcabﬁngl:,g standard heat of \j{

formation of BaSO,(s) = — 349 kcal/mol]

(1) —128.5 2) -133.0
(3) +133.0 (4) #220.5
ch

Total number of possiéﬁ isomers (both
structural as well as stereo‘jéomers) °_f cyclic
ethers of molecular formu‘g&C“HgO is :

(1) 6 @ &

(3) 10 4) 'J’Iij

L 5
Identify the correct orders against the property : )

mentioned
A. H,0>NH;> CHClywy dipole moment
B. XeF,> XeO; > XeFg¥y- number of lone
pairs on central atom'L}

C. O-H>C-H>N-O =Hond length

j o
D. N,>0,>H;- bonégfnthaipy .
Choose the correct answc_lzgfrom the op
given below : sk

i1
™4
(1 A,D only (2) ByD only

(3) A, Conly 4) B, Conly

17
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Higher yield of NO in
N, (g)+05(g) = 2NO(g) can be

obtained at (i

[AH of the reaction = + 31807 kJ mol~!]

i

A. higher temperature { 1
B. lower temperature 1
C. higher conccntration__?;?f N, )
D. higher concentration?;if 0,

Choose the correct answer from the options
given below:

(1) A, D only (2) gé:, C only

(3) B,C,Donly 4) A, C, D only

£
W,

s

If the rate constant of a i‘é:action is 0.03 s71,
how. much time does it take for 7.2 mol>L-!

concentration of the reactant to get reduced to
0.9 mol L1?2

P
Ly

(Given: log 2 =0.301) f

R

693

(1) 69.3s (2) 23.15
N
+(3) 210s 4) 21.0s

)
=
i

Which one of the folloxi?wfﬁg reactions does

NOT belong to “Lassaigne’s test”?

(1) Na+C+N R NaCN

(2) 2Na+S8 — Na;:éz
Sy
&N
(3) Na+X ——> +NaX

4

(4) 2Cu0+C ——> 2€4+CO,

[ Contd...
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\/ The complex I1 of mitochondrial electron |

transport chain is also known as
v (1) Cytqolgrome be,

(2) Succinate dehydrogenase

3) Cytdchrome ¢ oxidase,

(4) NADH dehydrogenase :

Polymerdsé chain reaction (PCR) am
DNA folfdwing the equation.
(1) N2 gt (2) 20

,(3) 2n 41

v

3 What are the potential draw
of the Ivgﬁmethod?
High. fatality risk to mother
Expensive instruments and reagents
Husb;la};ild!wife necessary for being donors
Less;adoption of orphans
Not ayailable in India
Possi:!gjlity that the early embryo does not
survive '
Choose thej correct answer
given below :
« (1) B,D,F only
() A,C,D,F only
(3) A, ByC, D only
(4) A, ByC, E, F only

backs in adoption

TMOO®>

from the options

blood vessel that

B
4  What is the name of the
from the body to

carries dgnqugenated blood
the hearti_ix;g a frog ?
* (1) Aortas
(2) Pulmonary artery
(3) Pulmohary vein
(4) Vena cava

95 i
Which on;cxof the following statements refers
tc]J Reduc%gi'nist Biology? I
(1) Phygg&ychemical approach to study and
& undekgg;and living organisms.
) Phyggglogical approach to study and
5 Léndqm%and living organisms.
uhdcm‘ical approach to study and
& Bnchorsli'and living organisms.
und‘a\noural approach to study and
. erstand living organisms.
S_English |

plifies

18

y

8

Given below are two statements :
Statement I : In the RNA world, RNA is
considered the first genetic material evolved to
carrylout essential life processes. RNA acts as
a gerietic material and also as a catalyst for
some ‘important biochemical reactions in living
syste?ﬁfé. Being reactive, RNA is unstable.
State?ﬁ:ent II : DNA evolved from RNA and
is a é}qre stable genetic material. Its double
helical| strands being complementary, resist
changes by evolving repairing mechanism.

In the light of the above statements, choose the
most appropriate answer from the options
given below :
« (1) Both statement [ and statement I
dre correct
(2) Both statement I and statement 11
are incorrect
3) S‘tétement [ is correct but statement 1
Eﬁ;inconect
(4) Statement I is incorrect but statement II
: E}orrect
j/ Epiphytes that are growing on a mango branch
is an example of which of the following?
s (1) ggmmensalism
) '_:utualism

(3) Predation
4) ég—l_lcnsalism

o
below choose the

Fromthe statements given

corréct option :

A. THe eukaryotic ribosomes are 80S and
prokaryotic ribosomes are 70S.

B. Each ribosome has two sub-units.

C. The two sub-units of 80S ribosome are 60S
and 40S while that of 70S are 508 and 305

D. i{:ﬁe two sub-units of 80S ribosome ar¢ 60S
nd 208 and that of 70S are 508 and 20>

E.ymmmmmmmmmwwﬁ
a g:l that of 708 are 508 and 30S.

v (1) AyB, Care true

2) AyB, D are true
(3) AJB, E are true
(4) BsiD, E are true

[ Contd-



J{ Which one of the following is an example of
ex-situ conservation?
(1) National Park %3 .
(2) Wildlife Sanctuary
(3) Zoos and botamca‘l?gardens
¢ (4) Protected areas :3!
Given below are two §tj§tements
Statement I : The primary source of energy
in an ecosystem is solar energy.
Statement II : The rate of production of
organic matter during photosynthesis in an
ecosystem is called net primary productivity
(NPP). -
In the light of the abovﬁ#§tatements choose the
most appropriate angwer from the options
given below : et
(1) Both statement Iaid statement II
are correct gl
2

j(u

Both statement 1%nd statement 11
are incorrect
v (3) Statement I is coftéct but statement I
is incorrect
(4) Statement I is incorrect but statement II
is correct

191 Match List - I with List - IL
List -1 i?lst I

Répid spasms in muscle
t[lfe to low Ca™
b dy fluid

émaged alveolar -
Walls and decreased
i"eéplratory surface
Acute chest pain when

A. Emphysema L

B. Angina IL.
Pectoris

C. Glomerulo- IIL

nephritis not enough oxygen
isfgcachmg to heart
qscle
D. Tetany IV. lnflammatlon of

gfpmerull of kidney
Choose the correct answer from the optlons
given below :
(1) A-lII, B-I, C-1V, D 11
(2) A-ll, B-l, C-11, D-1V
(3) A-ll, B-1V, C-lIL:D-I
, (4 A-IL B-1II, C-1V, D-1

f.v.i

45_English |
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2 Given below are two statements : One is
labelled as Assertlon (A) and the other is
labelled as Reason ( )

Assertion (A) : %Both wind and water
pollinated flowers are¢‘ not very colourful and
do not produce nectar.

Reason (R) : The ﬂowers produce enormous
amount of pollen g{rams in wind and water
pollinated flowers. __; ;

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Aand R are. true and R is the correct .

explanation of A

Both A and R ag_;c true but R is NOT the

correct explanation of A

A is true but R'iS false

"\3
A is false but R AAS true

i

g‘mh.

2

3)
o (4

3 Which of the followifig is an example of non-

distilled alcoholic beverage produced by yeast?

(1) Whisky (2) Brandy
e(3) Beer g"a(f‘) Rum

Given below are ton statements

Statement I : In a fgoral formula @ stands for |

zygomorphic nature of the
and G stands for mfel;lor ovary.

flower,

Statement II : In asfloral formula @ stands
for actinomorphié“hature of the flower
and G stands for superior ovary.
In the light of the above statements, choose the
correct answer from-the options given below :
(1) Both Statement.I}and Statement II

are correct a\‘@

Both St'ltement T and Statement 11
are incorrect

(2)
N

Statement I is ¢orrect but Statement 1[I
is incorrect 4

Statement | is ificorrect but Statement 1]
is correct

)

(4)

[ Contd...




\J)Z Streptokinase produced by bacteriu'm 0 Match List - If‘gith List - I1.
Streptococeus is used for List-I .. List - 1I
(1) Curd prciquction A. Head g [. Enzymes N
(2) Ethanol pr':)duction B. Middle piece II. Sperm motility
(3) Liver disédse treatment C. Acrosome lIl. Energy .
D. Tail ¢  IV. Genetic material
wer from the options

Choose the correct ans

given below @~ |

R
‘74 Which chromosome in the human genome has o (1) ALY, B-[f[_‘f C-1, D-1I

. -
the highest numiber of genes? ) A-1V, B-IL, C-I1, D-I
(3) A-IIL B-1V, C-IL, D-1

v(4) Removir@éclots from blood vessels

“() Chromosome X ,
@2) Chromosome Y 4) A-IIL, B-Ii; C-1, D-IV
(3) Chromosome | ;’f;
@ Chromos.ofr 5 §0 11  Given below a;;_”_é;j;thc stages in the life cycle of
2}5} : : pteridophytes. Arrange the following stages in
. vy , the correct sequence.
7 Which of the*following statement is correct &
. % A. Prothallus.stage
about locatioh*of the male frog copulatory e saad
pad ? : B. Meiosis m"’%porc mother cells
' C. Fertilisation
1) Fi d digi i . : s 3
1 }rst a]‘id?sieco? I_glt of fore. limb D. Formation of archegonia and antheridia in
(2) First dlgi'ff“f?f hmd llm'b | | gametophyte.
«(3) Second digit of fore limb E. Transfer ogj;z%ntherozbids to the archegonia
(4) First digit of the fore limb ; in presencgg.-;of water.
" _ Choose the correct answer from the options
fls Which one ofdthe following phytohormones | given below ];:‘;:
promotes nutr!ig;lt mobilization which helps'in - : (1) B, A, D, ;a,::c
the delay of l%%" senescence in plants? @ B,AE, (;3_1
(1) Ethylenecy ~ (2) Abscisicacid ; 8; g’ ,;:’ S 4B
NE) Gibberellﬁ (4) Cytokinin _ » D, G Bl
' w4 % Cardiac activities of the heart are regulated by :
f09 Whll]c t;ymg dto ﬁpd olut.the characteristfc of a A Nodal tissue, .
new y found animal, a researcher did t!le B. A special ggél_ural centre in the medulla
histology of adult animal and observed a cavity oblongata %73
with prescﬁccrgf mesodermal tissue towards C. Adrenal m;*gi:ll h
the body wall but no mesodermal tissue was D- witierial bl ary hormones
observed towards the alimentary canal. What S coégglcal hofmonss
. ] Choose the correct answer fi i -
could be the pogsible coclome of that animal ? : e r from the options
-given below :

e (1) A, Band CiOnly
2) A,B,CandD
(3) A, Cand D Only
(4) A, Band D Only

¢ (1) Acoelonate
(2) Pscudoco\lsiomatc
(3) Schiwco}jpmatc
(4) Spongocoelomate

IS___I.'_ nglish ’
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Which of following organisms cannot fix
nitrogen?

A. Azotobacter B.  Oscillatoria
C. Anabaena D Volvox
E. Nostoc ‘ *“;

Choose the correct answer from the options

given below: %5
(1) Aonly 2) D only
+»(3) Bonly “@) E only
e

4 Given below are twd statements :

Statement I : Transfer RNAs and ribosomal
RNA do not interact with mRNA.

Statement IT : RNA éngerferenoe (RNAI) takes
place in all eukaryotlﬁgkorganlsms as a method
of cellular defence. ¥

In the light of the aboyg statements, choose the

most appropriate angwer from the options
given below :

M
@)
€)

In the above represented p
of DNA is inserted at{Eco
following strategies will be chosen (0 5¢
recombinant colonies?

(1)

P2

(3)
(4)

&Y

Both Statement%[?hnd Statement 11

are correct , 4

Both StatementTand Statement II

are incorrect 3
Statement I is correct but Statement II
is incorrect

Statement I is 1€E:orrect but Statement II

wx‘a

is correct

#7:EcoRl
p Galactosidase

lasmid an alien piece
RI site. Which of the
lect the

2
in
Using dmplclllm & tetracyclin containing

medium plate. £

Blue colcl:r colohies will be sclcclc::d
White color colonies will be sele¢ i
Blue color colofiiés grown on amp
plates can be selected.

¥ Engligh |

/4 Which of the following genetically engineered
organisms was used Ej Eli Lilly to prepare
human insulin?

L0
o (1) Bacterium (2) Yeast
(3) Virus {{4@ Phage
0

Name the class of enzyffie that usually catalyze
the following reactiori ™!

S-G+S* 5 S+S#-G
Where, G — a group other than hydrogen

3

S - a su.lbstraé\_;c:3

S# _s another §dbstrate

(I) Hydrolase 253 Lyase
(3) Transferase .4_,§ Ligase

O

8 Find the statement thﬁéis NOT correct with
regard to the structure of monocot stem.

(1) Hypodermis is parenchymatous.
(2) Vascular bundles are scattered.
(3) Vascular bundlesgr_!e conjoint and closed.
3 (4) Phloem parenchyifia is absent.

=3

N .
The correct sequence Qf events in the life cycle
of bryophytes is Va)
'A. Fusion of antherazbid with egg.

B. Attachment of g{n‘;aetophyte to
substratum,

C. Reduction dwisi% to produce haploid

spores.
D.
E.

Choose the correct aﬂ\slarer from the options
given below : (N

(1): D, E;A, C, B
(2 B,E,A;C,D
¥ (3) B,E,A,D,C
4) D,EA,B,C

Formation of spo&phyte
Release of antheroZoids into water,

i
vf
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Which are correct:

A. Computed: tomography and magnetic |
resonance; Jmagmg detect cancers of
internal organs.

B.  Chemotherapeutics drugs are used to kill
non-cancerous cells.

C. a- mterfemn activate the cancer patients’

immune system and helps in destroying

the tumour:= ;

Chemotherapeutlc drugs are biological

response modifiers.

E. In the case of leukaemia blood cell counts
are decreased

Choose the cor;mct answer from the options

given below: i«f‘

(1) Band Donly ¢ (2) D and E only

(3) CandDofily (4) A and C only

D.

Jﬁﬁ |
Match List - I With List - II.
List-1 ¢ List - II
A. Centromeré ' [.  Mitochondrion
B. Cilium II. Cell division
C. Cristae - III. Cell movement
D. Cell mcmt;‘t;%ne IV. Phospholipid

k::*»,i ‘Bilayer
Choose the correct answer from the options
given below : s
(1) A-1, B-I, C4III, D-IV
@) AL B-I, €21V, D-IK
(3) A-lV, B- n‘\é 111, D-I
, (@) AL BIII;QEI D-1V

Match List I with List II :
List I List 11
A. ChlorophylFa 1.  Yellow-green
B. Chlorophylb 1I. Yellow
C. Xanthophy’li§ 1II. Blue-green
D. Carotcnmds IV. Yellow to
», g Yellow-orange

Choose the optign with all correct matches.
(1) A-Ill, B-1V,-C-1I, D-1
* (2) A-ll, B-1, €¢I, D-IV
(3) A-lL, B-lI, C-1V, D-111
@) A1, B-1V, C-111, D-1I

22

3 Find the correct statements :

A. In humanipregnancy, the major organ
systems;are formed at the end of 12
weeks. g3

{ B. In human .pregnancy the major organ
systems al:e formed at the end of 8 weeks.
C. Inhuman, _pregnancy heart is formed after
one montﬁ’ of gestation.
In human” pregnancy, limbs and digits
develop by the end of second month.
E. In humafi pregnancy the appearance of
hair is usually observed in the fifth month.
Choose the correct answer from the options
given below :
(1) A and EOnly
(2) B and C:Only
(3) B, C, D hiid E Only
» (4) A, C,DandE Only

D.

of endospernyiseparates the embryo by a
protein-rich layer called :

(D Coleopti!&; (2) Coleorhiza

(3) Integument »(4) Aleurone layer

_ %
y4/ In the seeds ©f cereals, the outer covering

Y

Which of the following diagrams is correct
with regard to the proximal (P) and distal (D)
tubule of the Nephron

NaCl Hzo HCCf'

3 NaCl Hzo
ﬁ%j

K"’ u*
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Identify the part of a blo-reactorwhlch is used |

AL

arartid
T
o

B £
= —> C { “gj

— A o

W—E/»D
1) A
3)'D

i
i
*
1

o {
§

st e

~ 93

2) B
4 C

‘,.
e

2:'} T
thaa

N
Given below are two statemgnts : One is
labelled as Assertion (A) andjthe other is
labelled as Reason (R). v

Assertion (A) : A typical unfertilised,
angiosperm embryo sac at maturity is

g

8 nucleate and 7-celled. o
Reason (R) : The egg apparatys has 2'polar
nuclei. s

In the light of the above stateméiits, choosIe :Lxe
correct answer from the optiors given below : ¢
(1) Both A and R are true and(R is the correct

explanation of A =

(2) Both A and R are true bufR is NOT the

correct explanation of A
(3) A is true but R is false

. v}
(4) A is false but R is tru€ ﬁ’i

ture in a
mbranous gf uc

A specialised me
: which helps;

prokaryotic cell W tion is :
formatiin, DNA replication andy JgFs spira
=4
(1) Mesosome ;_4
(2) Chromatophores
(3) Cristae
(4) Endoplasmic Reticulum s

nglish |

P

"o (1) RuBisCo i

Which of the followmg are the post-

transcriptional events in an eukalyotlc cell?
L-,,r‘;‘:

A. Transport of pre-mRNA to cytoplasm

&

B. Removal of introns and Jommg of exons.

prior to splicing.

C Addmon of methyl gr,gup at 5’ end of
hnRNA. i

D. Additidn of adenine residues at 3’ end of
hnRNA.

r‘*.f

- i
E. Base pairing of twgﬁ-gomplementary

RNAs. o
<t

Choose the correct answer, from the options .
given below : {&;
0
(1) A, B, C.only el
2) B, C, D only 4

« (3) B,C, Eonly

(4) C,D,E onl ..
! )
o
LG
What is the pattern of mhentgnce for polygenic
trait? &
o

6 (1) Mendelian inheritance pattern

(2) Non-mendelian inheriﬁ'\ce pattern
(3) Autosomal dominant pattern

(4) X-linked recessive inheritance pattern
v}
(53

Which one of the followin 30

‘Haem’ as the prosthetic gropp?
N

mes containg

(2) Carbonic anhydrase ¥

v

(3) Succinate dehydrogenase

(4) Catalase

[ Contd,,.
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2 Each of thi¢ following characteristics represent
~a Kingdom'proposed by Whittaker. Arrange
the following in increasing order of complexity
of body organization.
A. Multicellular heterotrophs with cell wall
made.of chitin.
B. Heterotrophs with tissue/organ/organ
syste&ﬁilevei of body organization.
C. Prokatyotes with cell wall made of
polygjéécharidcs and amino acids.
D. Euka.i'.y:otic autotrophs with tissue/organ
level of body organization,
E. Eukaryotes with
organization.
Choose thggcorrect answer from the options
given belo,.g.; 3
(1) A,C{E,B,D (2) C,E, A,D, B

() A.C.E,D,B (4) C,E, B,D

cellular  body

Who is k};éwn as the father
India?
(1) S.R. Kashyap +(2) Ramdeo Misra

(3) RamfUdar- (4) Birbal Sahni
&

of Ecology in

0
Match Lis_fi,l with List IT :

List-Ir.; List-II

A. Alfred’Hershey . Streptococcus
and hﬁﬁtha pneumoniae
Chaseij

B. Euchromatin 1. Densely packed

and dark-stained

C. Frcdef{fjck Loosely packed

111,

Griffith. and light-stained
D. Heterochromatin v, DNA as genetic
(Y material -
0

confirmation

(£
Choose 1hcjcorrect answer from the options

given below :

(1) A-ILBAY, C-1, D11
s (2) AV, B-ll, C-1, D-1n1

(3) A-V, B-111, C-1, D-1]

(4) A-IIl, B-11, C-1V, D-]

45_English |

{7
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Ve

@ NeOpIastic;:.ic";haracteristics of cells refer to :

A. A mass of proliferating cell

B. Rapid growth of cells

‘C. Invasion and damage to the surrounding
tissue

D. Thosé‘_%onﬁned to original location

Choose théf;correct answer from the options

given below;

(1) A,Bidaly  (2) A,B, C only

(3) A,BfDonly (4) B,C,D only

.%6 Given below are two statements :

i
Statemenfflz : The DNA fragments extracted
from geligectrophoresis can be used in
constructiq%of recombinant DNA.

Statement-II : Smaller size DNA fragments
are observédinear anode while larger fragments
are found iéar the wells in an agarose gel,

In the lightof the above Statements, choose the
most appFopriate answer from
given below :

v(D

the options

Both Egt?tement I and statement 11
are correct

(2) Both'statement I and statement []
) are incorrect

3) Stateffi‘e:nt L is correct but statement II
. s inc{o?r;rect

4) Statement I is incorrect but statement II
is conin;éct

s

Match Lis[_t,__r_l with List II.

List II
A. Adenosine [. Nitrogen base
B. Adenylic acid 1. Nucleotide
C. Aden{iﬁ% (M), Il Nucleoside
D.  Alanipe IV. " Amino acid

Choose the-option with all correct matches,
(1) A-IILEB-1V, C-l1, D-|
(2) A-IIL, B-11, C-1V, D]
§ ) A-lIL, B-l1, C-1, D-1V
(4) A-IL, B-lI1, C-I, D-1V

24 | Contd...
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A}

Consider the Following :

A. The reductive division for the human
female gamelogenesis‘,?starts earlier than

that of the male gametogenesis.

12

B. The gap between the first meiotic division
and the second meiotic division is much
shorter for males coqﬁgared to females.

C. The first polar body is\associated with the
formation of the primary oocyte.

D. Luteinizing Hormone(LH) surge leads to
disintegration of the-éndometrium and
onset of menstrual bleeding.

Choose the correct answer from the options

given below : 12 AT
(1) AandBaretrue &%
(2) A and C are true {‘ﬁ
(3) Band D are true g
2(4) Band C are true il
W

All living members of theselass Cyclostomata
are: gm-e% —
(1) Freeliving  (2) Endoparas.ite
(3) Symbiotic (4) Ectoparasite

Given below are two sfafements : fhler :2
labelled as Assertion (@gnd the 0

labc"m'i s (R).’ < function of the
i k8 ge the materials

Golgi apparatus is to pagkde® = nd
made by the endoplasmj¢ retlclcsl]lltlsr;:i:th "
deliver it to intracellular ta{g?ts an

cell, 4.

Reason (R) : Vcsiclcs'con;t;i‘:zllum e il
made by the endoplasmic r¢ 4 they
the cis >f('acc of the Golg! 3Pl’ara:l:’:’lfa':ls face
are modified and rclcascd-'.ﬁ:om
of the Golgi apparatus. =/ hoose the
In the light of the above s!ﬂ@m";’“’;fv f:n :
eorreet answer from the okﬁ:); Rgis e correet

b (1) Both A and R arc lruc{{lg

explanation of A (¢ 8

Both A and R ar¢ "!!,E}ﬁ

correct explanation OL4

A is true but R 18 false

A is false but R is 706

-

g materials

(2)

(3)
(4)

28

g*—t"&lllh |
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141/ Match List I with List II :
List I

List II

A. Scutellum I Persistent
¢nucellus

B. Non-albuminous II. {/Cotyledon of

seed “Monocot seed
C. Epiblast . IIL."Groundnut
D. Perisperm IV. f-_}}udimentary

;E;;otyledon
Choose the option with all correct matches.
(1) A-II, B-III, C-IV, D-I

'(2) A-LV, B-III, C-II, D-1

(3) A-lV, B-I11, C-I, D-II -
(4) AL B-IV, C-IIL D-I o,

0
Given below are two statefnents : one is
labelled as Assertion (A){nd the other is
labelled as Reason (R). %
Assertion (A) : All vcrtebréfés are chordates
but all chordates are not verfebrate. '
Reason (R) : The mf:mi:oegl:';1 of subphylum
vertebrata possess notochord during the
embryonic period, the notochord is replaced by
a cartilaginous or bony vertebral column in
adults. ;
In the light of the above statéments, choose the
correct answer from the options given below -

v (1) Both A and R are true and R is the correct

explanation of A N

(2) Both A and R are true%]l]t R is not the
correct explanation of 54

(3) Aistrue but R is false

(4) A is false but R is true

\y Identify the statement that issNOT correct.

(1) Each antibody has two light and two
heavy chains. W

The heavy and light ‘hains are helq
together by disulfide bantls.

Antigen binding siteVis located ar
Csterminal region n.)t'nlftlﬁuuly molecules.
Constant region n!‘hcaf}f“‘,nui light chains

are lovated st C-terminus of antibody
molecules, ‘

)
(3)

“)

| Contd,,,



l4 silencing of specific mRNA is possible via | 149 The protein portion of an enzyme IS calieds
RNAi because of - (1) Cofactor
v (1) Coq}glementary dsRNA | . (2) Coenzyme
(2) Inhibitory ssSRNA (3) ghpoenzyme
3) Complementary (RNA (4) Prosthetlc group
4) Non-%omplementary ssRNA 1 Whlch of the following is the unit of
{ ' ' prodiictivity of an Ecosystem?
145 Genes R'and Y follow independent assortment. - (D) gm—2
If RRY Y:produce round yellow seeds and rryy ) KCaI m—2
produce wiinkled green seeds, what will be the 3) KCaI m-3
phenotypic ratio of the F2 generation? ' (4) ‘KCal m2)yr~!
(1) * Phenotypic ratio - 1 : 2 i1
(2) Phcgcgtypic ratio - 3 : 1 \}!1 Sweet potato and potato represent a certain
’ , (3) Phefidtypic ratio - 9:3:3 : 1 type+of evolution. Select the correct
(¥« T ) combination of terms to explain the evolution.
(4) Phenotypic ratio - 9 : 7
=t (1) *Analogy, convergent
o (2) ‘Homology, divergent
\}/6 Histoncs.,;-a?frc enriched with - : , 3 I-fomology, convergent
o (D L)’Siﬁ'é & Arginine 4) Analogy, divergent
(2) Leucme & Lysine
3) Phenylalamne & Leucine ‘}42 Wlth the help of given pedigree, find out the
(4) Phenylalanine & Arginine probablllty for the birth of a child having no
disease and being a carrier (has the disease
mutation in one allele of the gene) in
47 The first rﬁenstruation is called : F, generation.
" + (D Megrgpause (2) Menarche :Z
(3) Diapause (4) Ovulation s Fo 1@
o : .
148 Match If:é‘t I with List - IL
Llst l List - IT =t
A. Heaﬁ* & g Erythropoietin —g)z
B. Kidney II.  Aldosterone
C. Gastro-intestinal 1il. Atrial natriuretic @ @
tractv factor [] Unaffected male |
D. Adrenial Cortex IV, Secretin [ K Aﬁec:ed male
Choose the correct answer from the options ox Camer female
given bcibw e 4
(1) A- lt Bl C-111, D-IV O A“ g e
(2) A-V.B-lIL, C-11, D-I : ® g%""“d Sl
+ (3) A-IFB-l1I, C-1V, D-1I T o
B Skl (1) /4 (2 112
() A-I1'B-1, C-1V, D-II 3) 18 54; il
45_English ) 26
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A
o I
\lﬁ How many meiotic ang mltotlc dmsmns need

o

4
s..l':nglish ]

k.

Given below are two statements : One is
labelled as Assertion (A) and the other is

labelled as Reason (R)%

Assertion (A) : Cellsiqf the tapetum possess
dense cytoplasm and generally have more than

one nucleus. “_-J‘*é
{\é

Reason (R) : Presence ¢f more than one nucleus
in the tapetum incréases the g:f‘ﬁciency of
nourishing the dcvelo?gng microspore mother
cells.

In light of the abovci statements, choose the |

most appropriate ans,wer from the options

given below : W"t

Lo i
+ (1) BothAandR ar%gue and R is the correct
explanation of A%y :
Ly N
(2) Both Aand R arg_}rue but R is NOT the
correct explanation of zl&

(3) A is true but Riis false
(4) A is false but R is true

of a mature
to occur for the deyeJOpment

female gametophytcxj'rom the megaspore

mother cell in an angrbsperm plant?

|
s (1) 2 Meiosis and B-tMltosxs

(2) 1 Meiosis and 2 Mitosis
(3) 1 Meiosis and 3. MltOSlS

(4) No Meiosis and @MIIOSIS
QJ;

Which of the folloWsnS i

zygomorphic ﬂowcr?m

(2) Datura

a
s an example of

(1) Petunia

V() pea O '+ (4) Chilli b1

After maturation, in primary lymphoid organs,
the lymphocytes migrate for interaction with
antigens to secondary lymphoid organ(s) /
tissue(s) like:
A. thymus i£3B. bone marrow

C. spleen “¥D. lymph nodes

E. Peyer’s patchES'

Choose the correg {“answer from the options
given below: 32

¥ {1): B.C, Donly 4(2) A, B, Conly

(3) E, A, Bonly (4) C,D,E only

i

&

Given below are two statements :
Statement I : Fig fitiit is a non-vegetarian fruit
as it has enclosed fig wasps in it.
Statement II : Fié{évasp and fig tree exhibit
mutual rclatlonshlii*%s fig wasp completes its
life cycle in figt fruit and fig fruit gets
pollinated by fig \{faSp
In the light of the abqve statements, choose the
most appropr:até answer from the options
given below : o
& (1) Both statement I and statement II
are correct
Both stateme?t I and statement II
are incorrect
Statement I ls correct but statement 11
is incorrect ‘s;;s
Statement I issincorrect but statement 11
is correct {3
W
What is the main fanction of the spindle fibers
during mitosis ?
t (1) To separate the chromosomes
(2) To synthesize new DNA
(3) To repair damaged DNA
(4) To regulate cel,l; growth
(e
9 Which one of the following is the characteristic
feature of gymnosperms?
(1) Seeds are enclosed in fruits.
e (2) Seeds are nnked
(3) Seeds are abs&.nt

(4) Gymnosperms Have flowers for
reproduction,

2
3)
C))

[ Contd...
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()4 Consider the following statements regarding 1d4 Match List I with List IT :

function of adrenal medullary hormones : List I "} List IT
A. It causes pupilary constriction A. The Evil Quaf’ié:t’ I. Cryopreservation
g B. Ex situ % 1. Alien species

. () ; i
B. Itisa hyp;_qrglycemlc hormone et
(8] i . .
C. It causes;piloerecﬁon conservation 5 - I(;IV&SIOI‘I ¢
. sl - i tana 22 . Causes 0
D. It increases strength of heart contraction C. Lan Y -
1 \ camara (s “biodiversity
Choose the eéirect answer from the options m! losses
iven below :(N ! g riaos
g] @ D. Dodo «~4 IV. Extinction
(1) CandD Fly Choose the option with all correct matches.

e
(2) B, CandD Only (1) A-IIL B-IL, C-1, D-IV
.(2) AL B-L, C-I, D-1V

(3) A,CandD Only
(4) D Only (3) A-IIL, B-IV, C:}H, D-1
; (4) A-IIL, B-IL, C:FY, D-I

)
\% Why can’t insiilin be given orally to diabetic g
patients? W 5 Which of the following hormones released
from the pituitary is'dctually synthesized in the

(1) 1-::15111;1:;26&6%}' will elicit strong 1mmune hypothalamus ?
; J : . (1) Luteinizing hﬁi‘inonc (LH)
e 2} g'::ag%’g“‘-ed in Gastro-Intestinal (2) Anti-diuretic iormone (ADH)
o E—éstmctuml i + (3) Follicle-stimulating hormone (FSH)
(3) Because (4) Adenocorticotrophic hormone (ACTH)

(4) Its bioavailability will be increased

o ,

: 16 RolF of the Wa&t‘-p{%r vascular system I
2 Match List I wi}ith List IL. . _ Echinoderms is : (¢

Respiration and Locomotion

-

ListI ¢5 List IT. A. :
A. Pteridoptiyfe I Salvia B.  Excretion and,_‘ﬁocomotion
B. Bryophyt@ II. Ginkgo C. Capture and trahsport of food
C. Angios &E 1Il. Polytrichum D, DiEsin aﬂ&fﬁ;espiration
- BIoTPEN lV' Salvinia -~ E. Digestion and’"Excretion
D. Gymnospdim f ' Choose the corredt answer from the options
| correct matches. | . given below :

Choose the option with al

(1) AL, B-iV; C-1l, D-! (1) A and B Only

@) A-1V, B, C-L, D-II (2) A and C Onlyvy

@) A-ll, B-1V, C-1, D-1I (3) Band C Onlys
, @) ALY, B-fii} C-11, D-I 4 B, D and E Odly

o o N "
sedFé:lat the genetic code for amino [ 7 gz:;i:uoz tﬂ:ﬁeﬁil}gﬁing t)-zpe of im-mum:;); rlls
acids should bgsmade up of three nucleotides? specific type of cief%‘ of .bll'th and is ?;ody?
nce in the human

(1) George Ganow _ (1) Acquired Imrunity
\ (2) Francis k + (2) Innate Immmﬁty'

(3) Jacque nﬁ:od' . (3 Cell-mediated Immunity

(4) Franklin Stahl (4) Humoral Immunity

163 Who propo

45_English | 28 [ Ccontd
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In bryophytes, the gemmae help in which one
of the following?

Jé
(1) Sexual reproductlon
(2) Asexual reprgaductlon
(3) Nutrient absg{ptlon
, (4) Gaseous exchange

O
\‘}9/

In frog, the Rena?portal system is a special
venous connectlon,.that acts to link :

(1) Liver and intestine
(2) Liver and kidney
(3) Kidney andr‘i'qtestine
(4) Kidney andiTower part of body
42
‘ 158
Given below arﬁ{zvo statements :

Statement I {“%In ecosystem, there is
unidirectional floéw of energy of sun from
producers to constimers.

17

Statement II : Etosystems are exempted from
2" Jaw of thermodynamics.

In the light of the above statements, choose the
most appropriate answer from the options
given below : .

(1) ‘Both statement I and statement II
are.correct i3

Both statem“eﬁt I and statement II

are mcorrect

Statement I 1‘5 correct but statement II
is mcorrect

Statement I is incorrect but statement II
is correct

@
v 3)

4)

Which of the fpﬂowmg statements about

RuBisCO is trucg‘l:,

(1) It is active otly in the dark.

(2) It has highéﬂ affinity for oxyge
carbon d:ox:;ac |
It is an enzyme involved in the photo

n than

ysis
(€)

of water. i

W

' i BP.
It catalyzes the carboxylation of Ru

4)
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% Which of the following enzyme(s) are NOT

essential for gene clofiing?

Restriction enzymés
DNA ligase w
DNA mutase

DNA recom bmasei

DNA polymerase’ 0
Choose the correct an%wer from the options
given below :

+(1) Cand Donly (2) A andB only
(3) DandEonly (4) Band C only

moOwp

'} ;
Read the following statements on plant growth

and development.  i¢3

A. Parthenocarpy cati'be induced by auxins.

B. Plant growth regulators can be involved
in promotion a§° ‘well as inhibition of
growth. e

2 Dedlﬁ'erentlatloh ils a pre-requisite for
re-differentiation. -

D. Abscisic acid is a plant growth promoter.

E.

Apical dominance promotes the growth of
lateral buds.

Choose the option wi
(1) A, B, C only
o 3) A,D,E only

fall correct statements,
@ A,C,Eonly
.4) B, D, E only

N
4 Which factor is 1mp0:;t‘ant for termination of
transcnption"

(1) o (alpha)
3 p (rhO)

¥,

2) o (sigma)
) v (gamma)

Frogs resnire in watf'. by skin and buccal

cavity and on land b%skm, buccal cavity and

lungs. o

Choose the correct answer from the

following : o

s (1) The statement i Is'true for water
for land (\q

(2) The statementifs true for both the
environment

(3) The statement is-false for water but trye
for land

(4). The statement is false for both the
environment

but false

™
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@ Twins are born to a family that lives next door

to you. The twins'are a boy and a girl. Which
of the following n"m';t be true?

(1) They are monozygotlc twins.
(2) They are frqtcrnal twins.

(3) They were concewcd through in vitro
fertilization."*

(4) They have 7?‘3@ identical genetic content.

Which of the following microbes is NOT

involved in thei.p{eparation of household

Q e,
products? N

Aspergillus fzig}er
Lactobac:lius ;
Tr tchodermq po!ysporum

Saccharomybés cerevisiae

moo® >

Pr omombac;ﬁegmm sharmanii

Choose the correct answer from the options
given below:

(1) AandB onlyﬁ

.(2) AandC inﬁ%

(3) Cand D onlyh
(4) C and E only*
%y

gy
8 Match List - T with List - IL
List - 1 ‘i:‘i List - 11 -
A. Progesterone I. Pars intermedia
B. Relaxin II. Ovary
C. Melanocyte ) 111, Adrenal
stimulating hérimo Medulla
D. Catccholamin%s) @IV Corpus luteum
Choose the correcg answer from the options
given below : €
(1) AV, B-II, é’:i D111
(2) A-1V, B-lI, Clll D-1
(3) A-ll, B-1V, C-1, D-III
(4) A-l1l, B-11, C-1V, D-1
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The blue and white selectable markers have
been developed which differentiate
recombinant colomes from non-recombinant
colonies on the 'bams of their ability to produce
colour in the, presence of a chromogenic
substrate. A

Given below ‘dre two statements about this

" method: ™4

T‘,.“i .
Statement I : The blue coloured colonies have
DNA insert in the plasmid and they are
identified as recombinant colonies.

Statement II vThe colonies without blue
colour have DNA insert in the plasmid and are
identified as recombmant colonies.

In the light of the_ above statements, choose the

‘most appropridte answer from the options

given below : %%

(1) Both Stat?ﬁlem I and Statement 11

are correct

(2) Both Statement I and Statement II

are incorrect

Statemengfls correct but Statement 11
is mcorrefg’i

3)

(4) Statement'is incorrect but Statement II
is correctt ™
N

%&‘\

Which one &f the following equations
represents the Verhulst-Pearl Logistic Growth
of population?

(D

dN [
=T

(2)

3)

4)
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